
����������	
�������	

��������������
�
����������������������������
���������	
�����������������������������������������������
�������������
���� !�����
 

                        
 

 

��������������������""""����
����#��$%�������������&��������������������$�$���
���������	����������� ���
    

���� ���� ���� ���� ���� ���� ����

Cable Management Strip  

(CM001) 

Cast Leg  

(LE101) 

Adjusting Foot 

(FT101) 



����
��������������������''''����
&�(��������	������&�)�"�����������������

��������������
�����������������*�(�"������������+�
���+������$�����#�������"���
 

 

   
 

 

 

����
��������������������,,,,����
&�����	
���#������$�
���������	
�����������	������&�)�'�����
����������������*�(�"��
����������+����+������$�����#�������"���
�
�
�

� � �

Corner Brace 

(FI502) 

Straight Brace 

(FI503) 

M6 x 20 Countersunk Socket Head Screws 

(SC012A) 

M6 x 20 Countersunk Socket Head Screws 

(SC012A) 



��������������������))))����
���������	
������������������"��������

������������
����-����.��
/����0�����
���������������	
�����������������������
$�	�������(�����

���)����������������
���������

�
������������������������
������#������������������$.��
�

� �
����
����
�����*������*������*������*����

������	
���#�������������������
��������
���������(����	
��+��&�)�)�������������$�������������������
���-���1���"1������'����������������������
��	
����������������
.��
/����0������
�	����������
��������������	
�������������������������������

�#������
�
�
�
��

� � �
�

����

Support Rail  

(SR001) 

Cable Management 

(CM002) 

Fixing Block 

(FI505) 



�����2������2������2������2����

������	
���#�������������������
��������
�������������	�����	���+����&�)�3����&�)�4�������(����	
��+��&�)�)���������*�(�")��
����$�	������
���$�����#����'�����0�56�/6��&7  8���9:�!/56�/6��&7  8���9:�!/56�/6��&7  8���9:�!/56�/6��&7  8���9:�!/�
�
�
�

� �
����
����
�����3������3������3������3����

������	
���#�������������������
��������
�
�$��������	�������-��*�����������	�����	���+����&�)�3����&�)�4���
�
�

�� � �
�
�

�����4������4������4������4����

������	
���#�������������������
��������
�������������	�������-��*��#�������*�(��*�����������+����+������$�����#�����4���1������������
������	�������$������������
�
���
���$���������������*�(�")��
����$�	���������$�����#���������
�����2��
�
�
�

� � � �
����

Cross Brace Bracket 

(FI518 or FI519) 

M6 x 25 Flanged 

Button Head Screw 

(SC311A) 

Cross Brace 

(SR006) 

M6 x 16 Countersunk Socket Head Screw 

(SC090A) 



��������������������������������
�
�$�������������
�������	��������������
���
/����0������������$���$��
���	
��$��#����������
���������
�.��
�

�
 

��������������������������������
&�(������������
����	������������������*�(��*�����������+����+������$�����#������4������������
��$�������
�
�
�
�
�
�

�
�
�

M6 x 16 Countersunk Socket Head Screws 

(SC090A) 



��������������������������������
&�(���	
�����������


������	
�$��������������*�(��*��
����$����+���	���������$�����#�
���'�,���
���

�� �
� �
�����

�

M6 x 16mm Flanged Socket 

Button Head Screw 

(SC304A) 


